eSS == A & 5 (=) % = £\

HASEI[/308IRTE
BEX BERXi s z pid
=B 1TH 129 134 263
=& 2TH 125 139 264
] =B 3TH 80 67 147
=&k 4TH 64 65 129
=& 5TH 14 19 33
INET 412 424 836
Bl HET 272 293 565
o E LS 205 216 421
X 14 H] 238 272 510
INEE 715 781 1,496
=& 5TH 118 143 261
3 B A AT 241 244 485
AN 167 156 323
INE 526 543 1,069
B L HT 162 203 365
4 § T 688 863 1,551
B o4 Hr 105 127 232
INE 955 1,193 2,148
5 IR 541 537 1,078
§ i3 472 509 981
6 N R 1,004 1,093 2,097
INET 1,476 1,602 3,078
* H 294 333 627
R Hr 320 373 693
5 WH Bz ET 351 403 754
= JIl BT 507 507 1,014
NOB 194 212 406
INET 1,666 1,828 3,494
i 5h OHT 122 123 245
8 @ 4 W HT 248 261 509
B & 252 271 523
INET 622 655 1,277
9 By B 185 183 368
10 Lt = H 1,494 1,545 3,039
11 Lt = H 2,769 3,010 5,779
12 £ % 535 558 1,093
13 & H 626 639 1,265
14 m & 583 578 1,161
15 B W M 191 171 362
16 = P 326 321 647
T E H 1,333 1,453 2,786
17 A I 226 340 566
INEF 1,559 1,793 3,352
18 = A 246 257 503
A I 71 69 140
19 m = 1,018 1,015 2,033
INET 1,089 1,084 2,173
X & 52 54 106
G 45 53 98
EE 141 146 287
20 £ H 132 152 284
= F 81 90 171
T = H 703 821 1,524
INET 1,154 1,316 2,470
17,670 19,018 36,688
5 z by

o h X Bl & §%F 4 = = 7,195 7,853 15,048
M T # 6,471 6,799 13,270
) = 4,004 4,366 8,370
Z= it 17,670 19,018 36,688




eSS == A & 5 (=) % = £\

SASEI[/228IR®
BEX BERXi s z pid
=B 1TH 129 134 263
=& 2TH 126 139 265
] =B 3TH 80 67 147
=&k 4TH 65 65 130
=& 5TH 14 19 33
INET 414 424 838
Bl HET 272 294 566
o E LS 205 217 422
X 14 H] 239 272 511
INEE 716 783 1,499
=& 5TH 118 143 261
3 B A AT 242 244 486
AN 167 156 323
INEE 527 543 1,070
E £ HI 162 203 365
4 § T 687 863 1,550
B o4 Hr 105 127 232
INE 954 1,193 2,147
5 IR 542 537 1,079
§ i3 471 508 979
6 N R 1,006 1,094 2,100
INET 1,477 1,602 3,079
* H 294 333 627
R Hr 320 373 693
5 W 5 ET 351 403 754
= Il BT 507 507 1,014
NOB 194 212 406
INET 1,666 1,828 3,494
i 5h OHT 122 123 245
8 [ 4 W HT 249 261 510
B | HT 252 271 523
INE 623 655 1,278
9 By B 186 184 370
10 Lt = H 1,496 1,543 3,039
11 = H 2,766 3,009 5,775
12 £ % 534 557 1,091
13 & H 627 639 1,266
14 N & 583 578 1,161
15 B W M 191 172 363
16 = P 326 321 647
T = H 1,332 1,454 2,786
17 A I 225 339 564
INEF 1,557 1,793 3,350
18 = A 246 257 503
A I 71 69 140
19 m = 1,018 1,015 2,033
INET 1,089 1,084 2,173
X & 52 54 106
G 45 53 98
EE 141 146 287
20 £ H 132 152 284
= F 81 90 171
T = H 705 821 1,526
INET 1,156 1,316 2,472
17,676 19,018 36,694
5 z RE

o h X Bl & §%F 4 = = 7,202 7,856 15,058
M T # 6,470 6,796 13,266
) = 4,004 4,366 8,370
Z= it 17,676 19,018 36,694




eSS == A & 5 (=) % = £\

HAS5F3/1 BIRME
BEX BERXi s z pid
=B 1TH 128 135 263
=& 2TH 125 138 263
] =B 3TH 80 67 147
=&k 4TH 65 65 130
=& 5TH 14 19 33
INET 412 424 836
Bl HET 272 296 568
o E LS 205 216 421
X # Hr 241 273 514
INEE 718 785 1,503
=& 5TH 118 142 260
3 B A AT 241 245 486
AN 167 156 323
INE 526 543 1,069
B L HT 161 201 362
4 § T 683 863 1,546
B o4 Hr 105 127 232
INE 949 1,191 2,140
5 IR 541 537 1,078
§ i3 470 509 979
6 N R 1,008 1,095 2,103
INET 1,478 1,604 3,082
* H 293 332 625
R Hr 319 374 693
5 W 5 ET 351 403 754
= JIl BT 508 507 1,015
NOB 193 211 404
INET 1,664 1,827 3,491
i 5h OHT 120 124 244
8 [ 4 W HT 250 262 512
B & 251 271 522
INET 621 657 1,278
9 By B 186 183 369
10 Lt = H 1,494 1,546 3,040
11 Lt = H 2,762 3,005 5,767
12 E] % 538 557 1,095
13 & H 628 640 1,268
14 m & 584 578 1,162
15 B 2 M 190 173 363
16 = P 325 320 645
T = H 1,332 1,454 2,786
17 A I 226 339 565
INEF 1,558 1,793 3,351
18 = A 246 257 503
A I 71 69 140
19 m = 1,021 1,015 2,036
INET 1,092 1,084 2,176
X & 52 55 107
IR 45 54 99
EE 140 145 285
20 £ H 132 152 284
= F 81 90 171
T = H 704 823 1,527
INET 1,154 1,319 2,473
17,666 19,023 36,689
5 z by

o h X Bl & §%F 4 = = 7,192 7,860 15,052
M T # 6,468 6,796 13,264
) = 4,006 4,367 8,373
Z= it 17,666 19,023 36,689




eSS == A & B (=) % = =

SAN4FE1281817EF
BEX BERXi s z pid
=B 1TH 128 135 263
=& 2TH 129 140 269
] =B 3TH 81 68 149
=&k 4TH 67 65 132
=& 5TH 14 19 33
INEE 419 427 846
Bl HET 273 301 574
o E LS 207 216 423
X 14 H] 239 277 516
INEE 719 794 1,513
=& 5TH 120 144 264
3 B A AT 242 246 488
AN 167 158 325
INE 529 548 1,077
B L HT 161 198 359
4 § T 687 863 1,550
B o4 Hr 106 126 232
INE 954 1,187 2,141
5 IR 541 538 1,079
§ i3 470 515 985
6 N R 1,008 1,091 2,099
INET 1,478 1,606 3,084
* H 298 334 632
R HT 322 372 694
- W 5 ET 351 403 754
= JIl BT 509 503 1,012
NOB 193 212 405
INET 1,673 1,824 3,497
i 5h OHT 120 123 243
8 @ 4 W HT 253 265 518
B & 251 269 520
INET 624 657 1,281
9 7 B 187 185 372
10 Lt = H 1,504 1,558 3,062
11 Lt = H 2,761 2,994 5,755
12 £ % 542 560 1,102
13 & H 629 638 1,267
14 m & 585 583 1,168
15 B W M 193 172 365
16 = P 327 320 647
T = H 1,337 1,455 2,792
17 A I 229 340 569
INEF 1,566 1,795 3,361
18 = A 245 255 500
A I 71 69 140
19 m = 1,026 1,016 2,042
INEF 1,097 1,085 2,182
X & 51 55 106
AR 45 55 100
EE 138 150 288
20 £ H 134 153 287
= F 81 92 173
T = H 707 826 1,533
INET 1,156 1,331 2,487
17,729 19,057 36,786
5 z by

o h X Bl & §%F 4 = = 7,220 7,876 15,096
M T # 6,486 6,808 13,294
) = 4,023 4,373 8,396
Z= it 17,729 19,057 36,786




eSS == A & B (=) % = =

HA4FO81 BIRTE
BEX BERXi s z pid
=B 1TH 129 135 264
=& 2TH 133 144 277
] =B 3TH 81 72 153
=&k 4TH 69 66 135
=& 5TH 14 19 33
INEE 426 436 862
Bl HET 270 300 570
o E LS 209 209 418
X 14 H] 238 275 513
INET 717 784 1,501
=& 5TH 119 148 267
3 B A AT 240 246 486
AN 167 158 325
INE 526 552 1,078
E £ HI 160 198 358
4 § Tk 682 867 1,549
B o4 Hr 109 124 233
INE 951 1,189 2,140
5 IR 542 538 1,080
§ i3 469 520 989
6 N R 1,007 1,097 2,104
INET 1,476 1,617 3,093
* H 301 335 636
R Hr 321 369 690
5 W 5 ET 352 407 759
= Il BT 505 495 1,000
NOB 192 211 403
INET 1,671 1,817 3,488
i 5h OHT 120 124 244
8 [ 4 W HT 255 264 519
B | HT 249 270 519
INET 624 658 1,282
9 By B 189 187 376
10 Lt = H 1,513 1,560 3,073
11 Lt = H 2,770 2,999 5,769
12 £ % 539 557 1,096
13 & H 634 642 1,276
14 N R 583 592 1,175
15 B W M 194 174 368
16 = P 326 318 644
T = H 1,337 1,465 2,802
17 A I 228 340 568
INEF 1,565 1,805 3,370
18 = A 247 257 504
A I 69 68 137
19 m = 1,034 1,020 2,054
INET 1,103 1,088 2,191
X & 51 55 106
AR 46 56 102
EE 138 150 288
20 £ H 135 155 290
= F 81 94 175
T = H 707 831 1,538
INET 1,158 1,341 2,499
17,754 19,111 36,865
5 z by

o h X Bl & §%F 4 = = 7,219 7,889 15,108
M T # 6,506 6,829 13,335
) = 4,029 4,393 8,422
Z= it 17,754 19,111 36,865




eSS == A & B (=) % = =

SAN4FE6H218I1RE
BEX BERXi s z pid
=B 1TH 131 138 269
=& 2TH 134 142 276
] =B 3TH 77 72 149
=&k 4TH 69 68 137
=& 5TH 14 19 33
INEE 425 439 864
Bl HET 274 299 573
o E LS 208 211 419
X 14 H] 237 273 510
INEE 719 783 1,502
=& 5TH 122 148 270
3 B A AT 242 249 491
AN 167 159 326
INEE 531 556 1,087
E £ HI 159 196 355
4 § Tk 682 867 1,549
B o4 Hr 109 125 234
INEE 950 1,188 2,138
5 R 540 545 1,085
§ i3 468 521 989
6 N R 1,017 1,101 2,118
INET 1,485 1,622 3,107
* H 302 338 640
R Hr 322 367 689
5 W 5 ET 354 409 763
= Il BT 502 493 995
X A 193 213 406
INET 1,673 1,820 3,493
i 5h OHT 122 125 247
8 [ 4 W HT 254 267 521
B | HT 251 271 522
INET 627 663 1,290
9 By B 188 190 378
10 Lt = H 1,522 1,561 3,083
11 Lt = H 2,777 3,020 5,797
12 E] % 541 556 1,097
13 & H 633 640 1,273
14 N & 588 593 1,181
15 B W M 192 174 366
16 = P 326 321 647
T E H 1,336 1,464 2,800
17 A I 231 341 572
INEF 1,567 1,805 3,372
18 = A 250 257 507
A I 69 66 135
19 m = 1,043 1,023 2,066
INET 1,112 1,089 2,201
X & 51 56 107
AR 46 56 102
EE 137 150 287
20 £ H 136 156 292
= F 83 92 175
T = H 707 837 1,544
INET 1,160 1,347 2,507
17,806 19,169 36,975
5 z RE

o h X Bl & §%F 4 = = 7,235 7,918 15,153
M T # 6,526 6,850 13,376
Bl = 4,045 4,401 8,446
Z= it 17,806 19,169 36,975




eSS == A & B (=) % = =

HA4F6 81 BIRME
BEX BERXi s z pid
=B 1TH 131 137 268
=& 2TH 135 141 276
] =B 3TH 78 72 150
=&k 4TH 69 68 137
=& 5TH 14 20 34
INET 427 438 865
Bl HET 275 299 574
o E LS 208 211 419
X 14 H] 237 273 510
INEE 720 783 1,503
=& 5TH 122 148 270
3 B A AT 241 250 491
AN 167 159 326
INE 530 557 1,087
E £ HI 159 195 354
4 § T 683 867 1,550
B o4 Hr 109 125 234
INEE 951 1,187 2,138
5 IR 542 547 1,089
§ i3 466 521 987
6 N R 1,017 1,099 2,116
INET 1,483 1,620 3,103
* H 303 338 641
R Hr 324 368 692
5 W 5 ET 354 408 762
= JIl BT 504 493 997
NOB 193 214 407
INET 1,678 1,821 3,499
i 5h OHT 124 126 250
8 [ 4 W HT 254 267 521
B | HT 251 271 522
INET 629 664 1,293
9 By B 188 192 380
10 Lt = H 1,519 1,560 3,079
11 Lt = H 2,778 3,016 5,794
12 £ % 540 558 1,098
13 & H 634 638 1,272
14 N & 589 593 1,182
15 B W M 192 174 366
16 = P 326 321 647
T E H 1,340 1,465 2,805
17 A I 232 339 571
INET 1,572 1,804 3,376
18 = A 250 258 508
A I 70 66 136
19 m = 1,042 1,023 2,065
INET 1,112 1,089 2,201
X & 50 56 106
AR 46 56 102
EE 137 149 286
20 £ H 136 157 293
= F 83 92 175
T = H 706 838 1,544
INEF 1,158 1,348 2,506
17,818 19,168 36,986
5 z RE

o h X Bl & §%F 4 = = 7,244 7,921 15,165
M T # 6,525 6,845 13,370
) = 4,049 4,402 8,451
Z= it 17,818 19,168 36,986




